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2. AREBRT - 2 1 2 - 1
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5 oo 3 16 19 16 14 11
6 Mg A ue - - - ; - 1
7 TR Al 3 2 5 5 2 3
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9. I - 1 - - - 3
10. gy fagia g fgsnemd wfbard 17 5 1 1 3 9
11. g vd Beld 7 1 1 - - 5
12, €¥9Y.TIHAT. - 1 1 - 1 1
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15, afas S 3 - - - - 1

(7)



.9, =™ 4-09-2021  22-09-2018 22-09-2018 23-09-2018 18-11-2018 2014

Shift-1 Shift-1 Shift-11 Shift-1T Shift-I1I
Male Male Female Male Female
16.  HHIG-HAId - - 1 2 1 4
17. facene sfufa - 8 5 5 6 3
18. fygw - 2 2 4 3 1
19. Ra® Ifidnd - - - - - 2
20. ¥ 8 1 - 1 - 5
21. Ao 3 1 1 - - 2
22, 3@®eH 7 1 2 2 4 4
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